Above 4600:

4600/Num_sig_4600:Ns: signal num = 92 sideband num = 4 -
4610/Num_sig_4610:Ns: signal num = 16 sideband num = 0 100 = _._BESIII (This work)
4620/Num_sig_4620:Ns: signal num = 136 sideband num = O — - - BESIII (2017)
4640/Num_sig_4640:Ns: signal num = 168 sideband num = 8 8 80 < BaBar ‘ .
4660/Num_sig_4660:Ns: signal num = 172 sideband num = 12 = - -+ Belle +|l
4680/Num_sig_4680:Ns: signal num = 512 sideband num = 28 % 60 - ‘$°
4700/Num_sig_4700:Ns: signal num = 148 sideband num = 4 «© N l
4740/Num_sig_4740:Ns: signal num = 28 sideband num = 0O 3 40 - \ f | .| _|_JJ‘,|_
4750/Num_sig_4750:Ns: signal num = 56 sideband num = 8 B o0 - 'Aﬁ-j- = Io|a °|.|
4780/Num_sig_4780:Ns: signal num = 56 sideband num = 4 1 - ﬁ_l _L-"..l"'--- !@g_! —
4840/Num_sig_4840:Ns: signal num = 52 sideband num = 4 +$ ﬂi o L I "r;,-- __________________
4914 /Num_sig_4914:Ns: signal num = 16 sideband num = 4 © +
4946 /Num_sig_4946:Ns: signal num = 12 sideband num = 0 o0 -7
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